
RETAIL PRICING

Contents:
by category.................................p. 2
by part number...................... p. 11

2025
Effective January 1, 2025250 Maple Ave.   

Bird-in-Hand, PA 17505



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 2

CMS Part # Description Suggested 
Retail

Gear w/ Rubber Torsion Axle
5200-AB Torsion Gear w/ Airbag - medium airbags in front & rear - choice of spindles $2,031.25

5200-RS Torsion Gear w/ Rubber Shocks - in front & rear - choice of spindles $1,518.30

5201-AB Torsion Gear w/ Airbag - medium airbags in front & rear - choice of spindles $2,031.25

5201-RS Torsion Gear w/ Rubber Shocks - in front & rear - choice of spindles $1,518.30

5204-AB Torsion Gear w/ Spring Attachment in Front & Airbags in rear - choice of spindles $1,618.75

5204-RS Torsion Gear w/ Spring Attachment in Front & Rubber Shocks in rear - choice of spindles $1,360.80

5205 Torsion Gear w/ Spring attachment - choice of spindles $1,243.75

5206 Torsion Gear w/ Spring attachment - choice of spindles $1,243.75

5207 Torsion Gear w/ Spring attachment - choice of spindles $1,243.75

5208 Torsion Gear w/ Spring Attachment - double half elliptic - choice of spindles $1,355.00

5210 Straight Axle Gear $1,193.75

5211 Straight Axle Gear w/ side springs in rear $1,193.75

5212-AB Straight Axle Gear w/ Airbags in rear $1,687.50

5212-RS Straight Axle Gear w/ Rubber Shock in rear $1,375.00

5214 Cart axle w/ torsion - w/ choice of spindles $383.50

Torsion Gear Accessories

Wheels
5502-none Wheel, Steel, 1-1/4" hub w/ seal $268.75

5502-none-set Wheel, Steel, 1-1/4" hub w/ seal - Set of 4 $1,075.00

5502-RFR Wheel, Steel, 1-1/4" hub w/ seal, with rubber & flat rim $443.75

5502-RFR-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber & flat rim - Set of 4 $1,775.00

5502-RFR-LP Wheel, Steel, 1-1/4" hub w/ seal, with low profile rubber & flat rim $443.75

5502-RFR-LP-set Wheel, Steel, 1-1/4" hub w/ seal, with low profile rubber & flat rim - Set of 4 $1,775.00

5502-RHR Wheel, Steel, 1-1/4" hub w/ seal, with rubber & 1-1/8" half round rim $493.75

5502-RHR-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5502-RHR-LP Wheel, Steel, 1-1/4" hub w/ seal, with low profile rubber & 1-1/8" half round rim $493.75

5502-RHR-LP-
set

Wheel, Steel, 1 1/4" hub w/ seal, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5502-RO-LP Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, low profile flat $368.75

5502-RO-LP-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, low profile flat - Set of 4 $1,475.00

5502-ROF-J Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - Jasper $368.75

5502-ROF-J-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - Jasper - Set of 4 $1,470.87

5502-ROF-T Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - TBP $295.00

5502-ROF-T-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - TBP - Set of 4 $1,470.87

5502-ROH Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, half round $350.00

5502-ROH-set Wheel, Steel, 1 1/4" hub w/ seal, with rubber only, half round - Set of 4 $1,400.00

Shafts
5238 Pivot up angle bracket to install fiberglass shaft fronts on CMS Pivot up Heel - pair $49.50

5300-A ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts, Steel Single Tree $552.50

5300-ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts - No Singletree - Need to specify receiver style $468.00

5300-B ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts, Black Spring Tree $604.50

5300-C ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts, Chrome Spring Tree $630.50

Brakes
5532 Disc Brakes (No Covers) installed on CMS 1-1/4", per axle $676.00

5532-DC Disc Brakes with Disc Covers installed on CMS 1-1/4", per axle $676.00

5532-DC-NT Disc Brakes with Disc Covers installed on CMS 1-1/4", per axle - No Brake Tubing Kit $676.00

5532-NT Disc Brakes (No Covers) installed on CMS 1-1/4", per axle - No Brake Tubing Kit $676.00

5700 Drum, 2 pcs 7" PA backers only - installed on 1-1/8" spindle $484.25

5701 Drum, 7" PA drum only - Installed & machined, per wheel $90.00

5800 Drum, 2 pcs 8" PA backers only - installed on 1-1/8" spindle $584.35



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 3

CMS Part # Description Suggested 
Retail

5801 PA Drum, 8" PA drum only - installed & machined, per wheel $112.00

Master Cylinders
5558 Master Cylinder Assembly 1" w/ check (drum) Weavertown Style $203.45

5559 Master Cylinder Assembly 1" w/o check (disc) $203.45

5560 Master Cylinder Assembly 1-1/8" w/o check (disc) $245.00

Parts
3021 Flat Socket Head Cap Screw - 3/8" x 1 1/2" SS $0.46

3022 Elevator Bolt - 3/8" x 1 1/2" Grade 2 $0.75

3023 Hex Bolt - 3/8" x 1" - stainless steel $0.57

3024 Hex Bolt - 3/8" x 1 3/4" Grade 5 $0.26

3025 Perch Bolt - 3/8" x 2-3/4" Grade 8 $3.58

3028 Hex Bolt - 3/8" x 1 1/4" Grade 8 $0.36

3029 Hex Bolt - 3/8" x 2 1/2" Grade 5 Plated $0.46

3034 Flat Socket Head Cap Screw - 3/8" x 1" $0.34

3050 Plastic Cap for 1 1/2" x 11 ga. tubing $0.98

5010 CMS 1 1/4" spindle $15.28

5160 Mudsplasher Rod, Stainless Steel, powdercoated black - for regular tab $25.95

5161 Mudsplasher Rod, Stainless Steel, powdercoated black - for pivot up shafts $25.95

5171 King Pin Bolt for TG $11.38

5217 Perch $123.15

5218 Perch Plate - for airbag gear $8.45

5219 Perch Plate - for EZ spring $7.15

5220 TG Fifth Wheel Top Plate for Spring $55.25

5224 TG Fifth Wheel Top Plate for Airbag/rubber shock $59.15

5227 Perch Plate, rear $5.40

5228 Fifth Wheel Wafer for CMS Gear $12.25

5230 Airbag Mount - raw steel, weld-on $5.79

5234 TG Fifth Wheel Top Plate for Airbag/Rubber shock , with stops $86.45

5235 TG Fifth Wheel Plate for spring , with stops $87.75

5257 Pivot up shaft bushing $1.62

5270 Long spindle 1 1/8 - axle stub only $29.25

5271 Short spindle 1 1/8 - axle stub only $29.25

5304 TG Fender Bracket - Bolt on $55.00

5370-24 24"x 3/8" Aluminum plate for Airbag/Rubber Shock - Front $31.85

5370-30 30" x 3/8" Aluminum plate for Airbag/Rubber Shock - Front $31.85

5371-24 24" x 3/8" Aluminum plate for Airbag/Rubber Shock - Front Split - Pair $31.85

5371-30 30" x 3/8" Aluminum plate for Airbag/Rubber Shock - Front split - Pair $31.85

5372-24-20 24" x 3/8" Aluminum plate w/ 20" Airbag/Rubber Shock centers - Rear $31.85

5372-30-20 30" x 3/8" Aluminum plate w/ 20" Airbag/Rubber Shock centers - Rear $31.85

5372-30-24 30" x 3/8" Aluminum plate w/ 24" Airbag/Rubber Shock centers - Rear $31.85

5372-37-33 37" x 3/8" Aluminum plate w/ 33" Airbag/Rubber Shock centers - Rear $45.50

5372-39-35 39" x 1/2" Aluminum plate w/ 35" Airbag/Rubber Shock centers - Rear $66.30

5480 Emergency Repair Kit $125.00

6103 Pivot-up Plate - raw steel, weld-on $4.91

CC-3353-3 3/8" x 1 3/4" Socket Head Gr8 plated $2.10

Shaft Parts
3017 Single tree Bolt  - 3/8"-16 x 1-3/4" Hex bolt 4140 x 7/16" thick head x 3/4" thread $6.50

5033 Pivot-up Shaft Receiver - for flex tree or soft tug $123.50

5034 Pivot-up Shaft Heel $106.50

5034-6 Pivot-up Shaft Heel - 6" higher $188.50

5037 Pivot up plate w/ 1" tabs, per pair $25.35



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 4

CMS Part # Description Suggested 
Retail

5145 Strap - Heavy Web (B20) w/ 281 SS Buckle $7.74

5187 Round end cap EPDM Rubber, Black - for pivot up shaft stop $0.50

5236 Mudsplasher Hanger Bracket - bolt on - stainless $9.25

5259 Shaft Spacer, 1" plastic $2.55

5260 Singletree - steel $86.12

5261 Pivot-up Shaft Receiver - for CMS steel singletree $133.58

5262 Singletree Washer $1.74

5298-B CMS Spring Tree w/ Black hooks $136.50

5298-C CMS Spring Tree w/ Chrome hooks $162.50

5301 Spring Tree Mounting Bracket - Bolt on $19.50

5302 Shaft fronts - Aluminum,  per pair $145.00

5316 Mudsplasher, PVC 36" x 29" with Aluminum strips top & bottom $136.50

Wheels
5310-none Wheel Steel with Custom hub $300.00

5310-none-set Wheel Steel with Custom hub - Set of 4 $1,200.00

5310-RFR Wheel Steel with Custom hub, with rubber & flat rim $481.25

5310-RFR-set Wheel Steel with Custom hub, with rubber & flat rim - Set of 4 $1,925.00

5310-RFR-LP Wheel Steel with Custom hub, with low profile rubber & flat rim $481.25

5310-RFR-LP-set Wheel Steel with Custom hub, with low profile rubber & flat rim - Set of 4 $1,925.00

5310-RHR Wheel Steel with Custom hub, with rubber & 1-1/8" half round rim $518.75

5310-RHR-set Wheel Steel with Custom hub, with rubber & 1-1/8" half round rim - Set of 4 $2,075.00

5310-RHR-LP Wheel Steel with Custom hub, with low profile rubber & 1-1/8" half round rim $518.75

5310-RHR-LP-
set

Wheel Steel with Custom hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $2,075.00

5310-RO-LP Wheel Steel with Custom hub, with rubber only, Low profile flat $406.25

5310-RO-LP-set Wheel Steel with Custom hub, with rubber only, Low profile flat - Set of 4 $1,626.43

5310-ROF-J Wheel Steel with Custom hub, with rubber only, flat - Jasper $406.25

5310-ROF-J-set Wheel Steel with Custom hub, with rubber only, flat - Jasper - Set of 4 $1,626.43

5310-ROF-T Wheel Steel with Custom hub, with rubber only, flat - TBP $406.25

5310-ROF-T-set Wheel Steel with Custom hub, with rubber only, flat -TBP - Set of 4 $1,626.43

5310-ROH Wheel Steel with Custom hub, with rubber only, half round $381.25

5310-ROH-set Wheel Steel with Custom hub, with rubber only, half round - Set of 4 $1,525.00

5500-none Wheel, Steel, regular long hub, $268.75

5500-none-set Wheel, Steel, regular long hub, - Set of 4 $1,075.00

5500-RFR Wheel, Steel, regular long hub, with rubber & flat rim $443.75

5500-RFR-set Wheel, Steel, regular long hub, with rubber & flat rim - Set of 4 $1,775.00

5500-RFR-LP Wheel, Steel, regular long hub, with low profile rubber & flat rim $443.75

5500-RFR-LP-set Wheel, Steel, regular long hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5500-RHR Wheel, Steel, regular long hub, with rubber & 1-1/8" half round rim $493.75

5500-RHR-set Wheel, Steel, regular long hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5500-RHR-LP Wheel, Steel, regular long hub, with low profile rubber & 1-1/8" half round rim $493.75

5500-RHR-LP-
set

Wheel, Steel, regular long hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5500-RO-LP Wheel, Steel, regular long hub, with rubber only, Low profile flat $368.75

5500-RO-LP-set Wheel, Steel, regular long hub, with rubber only, Low profile flat - Set of 4 $1,475.00

5500-ROF-J Wheel, Steel, regular long hub, with rubber only, flat - Jasper $368.75

5500-ROF-J-set Wheel, Steel, regular long hub, with rubber only, flat - Jasper - Set of 4 $1,475.00

5500-ROF-T Wheel, Steel, regular long hub, with rubber only, flat - TBP $368.75

5500-ROF-T-set Wheel, Steel, regular long hub, with rubber only, flat - TBP - Set of 4 $1,470.87

5500-ROH Wheel, Steel, regular long hub, with rubber only, half round $350.00

5500-ROH-set Wheel, Steel, regular long hub, with rubber only, half round - Set of 4 $1,400.00

5501-none Wheel, Steel, flush hub $268.75



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 5

CMS Part # Description Suggested 
Retail

5501-none-set Wheel, Steel, flush hub - Set of 4 $1,075.00

5501-RFR Wheel, Steel, flush hub, with rubber & flat rim $443.75

5501-RFR-set Wheel, Steel, flush hub, with rubber & flat rim - Set of 4 $1,775.00

5501-RFR-LP Wheel, Steel, flush hub, with low profile rubber & flat rim $443.75

5501-RFR-LP-set Wheel, Steel, flush hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5501-RHR Wheel, Steel, flush hub, with rubber & 1-1/8" half round rim $493.75

5501-RHR-set Wheel, Steel, flush hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5501-RHR-LP Wheel, Steel, flush hub, with low profile rubber & 1-1/8" half round rim $493.75

5501-RHR-LP-
set

Wheel, Steel, flush hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5501-RO-LP Wheel, Steel, flush hub, with rubber only,Low Profile flat $368.75

5501-RO-LP-set Wheel, Steel, flush hub, with rubber only,Low Profile flat - Set of 4 $1,470.87

5501-ROF-J Wheel, Steel, flush hub, with rubber only, flat - Jasper $368.75

5501-ROF-J-set Wheel, Steel, flush hub, with rubber only, flat - Jasper- Set of 4 $1,470.87

5501-ROF-T Wheel, Steel, flush hub, with rubber only, flat - TBP $368.75

5501-ROF-T-set Wheel, Steel, flush hub, with rubber only, flat - TBP - Set of 4 $1,470.87

5501-ROH Wheel, Steel, flush hub, with rubber only, Half Round $350.00

5501-ROH-set Wheel, Steel, flush hub, with rubber only, Half Round - Set of 4 $1,400.00

5503-none Wheel, Steel, Graber Hub $268.75

5503-none-set Wheel, Steel, Graber Hub - Set of 4 $1,075.00

5503-RFR Wheel, Steel, Graber Hub, with rubber & flat rim $443.75

5503-RFR-set Wheel, Steel, Graber Hub, with rubber & flat rim - Set of 4 $1,775.00

5503-RFR-LP Wheel, Steel, Graber Hub, with low profile rubber & flat rim $443.75

5503-RFR-LP-set Wheel, Steel, Graber Hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5503-RHR Wheel, Steel, Graber hub, with rubber & 1-1/8" half round rim $493.75

5503-RHR-set Wheel, Steel, Graber Hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5503-RHR-LP Wheel, Steel, Graber Hub, with low profile rubber & 1-1/8" half round rim $493.75

5503-RHR-LP-
set

Wheel, Steel, Graber Hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5503-RO-LP Wheel, Steel, Graber Hub, with rubber only, low profile flat $368.75

5503-RO-LP-set Wheel, Steel, Graber Hub, with rubber only, low profile flat - Set of 4 $1,475.00

5503-ROF-J Wheel, Steel, Graber Hub, with rubber only, flat - Jasper $368.75

5503-ROF-J-set Wheel, Steel, Graber Hub, with rubber only, flat - Jasper - Set of 4 $1,475.00

5503-ROF-T Wheel, Steel, Graber Hub, with rubber only, flat - TBP $368.75

5503-ROF-T-set Wheel, Steel, Graber Hub, with rubber only, flat - TBP - Set of 4 $1,475.00

5503-ROH Wheel, Steel, Graber Hub, with rubber only, half round $350.00

5503-ROH-set Wheel, Steel, Graber Hub, with rubber only, half round - Set of 4 $1,400.00

5504-none Wheel, Steel, Canadian Hub $268.75

5504-none-set Wheel, Steel, Canadian Hub - Set of 4 $1,075.00

5504-RFR Wheel, Steel, Canadian Hub, with rubber & flat rim $443.75

5504-RFR-set Wheel, Steel, Canadian Hub, with rubber & flat rim - Set of 4 $1,775.00

5504-RFR-LP Wheel, Steel, Canadian Hub, with low profile rubber & flat rim $443.75

5504-RFR-LP-set Wheel, Steel, Canadian Hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5504-RHR Wheel, Steel, Canadian Hub, with rubber & 1-1/8" half round rim $493.75

5504-RHR-set Wheel, Steel, Canadian Hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5504-RHR-LP Wheel, Steel, Canadian Hub, with low profile rubber & 1-1/8" half round rim $493.75

5504-RHR-LP-
set

Wheel, Steel, Canadian Hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5504-RO-LP Wheel, Steel, Canadian Hub, with rubber only, low profile flat $368.75

5504-RO-LP-set Wheel, Steel, Canadian Hub, with rubber only, low profile flat - Set of 4 $1,475.00

5504-ROF-J Wheel, Steel, Canadian Hub, with rubber only, flat - Jasper $368.75

5504-ROF-J-set Wheel, Steel, Canadian Hub, with rubber only, flat - Jasper - Set of 4 $1,475.00

5504-ROF-T Wheel, Steel, Canadian Hub, with rubber only, flat - TBP $368.75



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 6

CMS Part # Description Suggested 
Retail

5504-ROF-T-set Wheel, Steel, Canadian Hub, with rubber only, flat - TBP - Set of 4 $1,475.00

5504-ROH Wheel, Steel, Canadian Hub, with rubber only, half round $350.00

5504-ROH-set Wheel, Steel, Canadian Hub, with rubber only, half round - Set of 4 $1,400.00

Rubber
5189-JASPER-
FT

Rubber Jasper - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) -  per ft. $6.30

5189-JASPER-
ROLL

Rubber Jasper - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) - 45 ft coil $292.50

5189-TBP-FT Rubber TBP - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) -  per ft. $8.78

5189-TBP-ROLL Rubber TBP - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) - 55 ft coil $448.50

5190-FT Rubber Jasper - CMS Channel Profile - 1-1/4" Round Top (fits CMS steel wheels only) - per ft. $5.86

5190-ROLL Rubber Jasper - CMS Channel Profile - 1-1/4" Round Top (fits CMS steel wheels only) - 45 ft. coil $233.35

5191-FT Rubber -TBP- CMS Channel Profile - 1-1/4" Low Profile Flat Top (fits CMS steel wheels only) - per ft. $6.50

5191-ROLL Rubber -TBP- CMS Channel Profile - 1-1/4" Low Profile Flat Top (fits CMS steel wheels only) - 55 ft roll $345.00

Wheel Acc.
5017 Hubcap, CMS 1 1/4" $18.15

5070 Hubcap, EZ pin, Powdercoated Black $6.82

5076 Hubcap, flush, Powdercoated Black $5.18

5080 Hubcap wrench - CMS 1 1/4" $11.38

5082 O-Ring - for CMS 1 1/4" hubcap $1.06

5167 Axle nut for regular axle $1.25

5168 Axle Nut for CMS 1-1/4" axle $0.79

5169 Axle washer for regular axle $0.20

5170 3/16" axle washer for CMS 1-1/4" axle - Hardox 500 $2.53

5294 Hub Cover for CMS 1 1/4" hub - powdercoated black - includes 2 covers and 6 bolts $10.26

5320 CMS 1 1/4" Hub W/Flange , raw steel for Fiberglass Wheel (8 bolt pattern) , includes painted hubcap $91.09

Bearings
5276 Cenpeco Bearing Grease $10.81

5280 Bearing, 1"  (07093) $9.03

5281 Bearing, 1 1/8" (07100) $7.75

5282 Bearing, small (A6075) $10.25

5283 Bearing, CMS 1-1/4" (LM67048) $6.43

5284 Oil seal, 1" $1.75

5285 Oil seal, 1-1/8" $1.75

5286 Oil seal, CMS 1-1/4" $1.75

5289 Oil seal driver $50.70

5290 Small Bearing Race A6157 $6.25

5291 Large Bearing Race 07196 $4.68

5292 Bearing Race LM67010 $3.90

5295 Cotter Pin for 1 1/4" axle $0.25

5296 Cotter Pin for 1 1/8" axle $0.23

Airbag Kits & Parts
5028 Air pump $32.75

5029 Air pressure gauge, bracket $9.40

5086 Air bag, medium $159.50

5086-P Air bag, medium ( Painted ) $179.50

5087-AB Market Wagon Kit w/ Airbag $496.65

5087-AB-NF Market Wagon Kit w/ Airbag - No air fittings, gauges and tubing - Air fill valve only $496.65

5087-RS Market Wagon Kit w/ Rubber Shock $246.05

5089 Air Bag Bracket Adjuster $6.24

5090 Air Bag Bracket Axle Mount $10.96



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 7

CMS Part # Description Suggested 
Retail

5092 Air Bag Bracket $11.00

5093 Air Bag Bracket 1 1/4" Axle Mount $14.24

5159 Rubber Shock Plate - 1/4" $9.42

5166 Rubber Shock Plate - 3/4" $9.75

5183 Tubing Clip 1/4" $0.26

5192 Air Manifold Assembly - Aluminum w/ 2 Regulators with check valves and Compressor $448.50

5192A-1 SS Face plate 16 GA #4 polish for Manifold w/ Regulators $8.13

5194 Air Manifold Assembly - Aluminum w/ 2 Paddle Switches & Compressor $429.00

5194A-1 SS Face plate 16 GA #4 polish for Manifold w/ Paddle Switches $8.13

5195 Mounting Plate for panel mount gauge $7.15

5196 Mounting Plate for air toggle switch $7.15

5200-ABKIT TG-5200 Airbag kit $874.25

5200-RSKIT TG-5200 Rubber shock kit $279.50

5307 Spring Wagon Kit w/ 4 Rubber Shocks $327.60

5307-A Top plate for Double Rubber Shock Kit $18.17

5307-B Bottom plate for Double Rubber Shock Kit $16.60

5360 Rubber shock - Large 4" $58.50

5380 Clippard Pressure Regulator, #10-32 Mainfold Mount, Knurled Knob, 10-50 psig $49.75

5381 Paddle Switch w/ 3/16" barb $37.50

5382 Fixed Setpoint Pressure Switch, wire lead , 1/8 NPT Male Connection, 50 PSI Setpoint off 30 PSI Setpoint on $12.68

5383 Air Compressor, 12 Volt, Victor $51.61

5384 Rubber Ball for manifold check Valve, 5/16" $4.34

5385 Compression Spring for manifold check Valve, 1.6" long .312 dia $0.97

5390 Air pressure gauge 60 psi $12.35

5392 Air pressure gauge, panel mount 100 psi $31.16

5398 Brass tee, 1/8" NPT $4.55

5399 Watts Air fill valve $12.13

5400 Poly tubing, 1/4" (per foot) $0.83

5401 Legris tee, 1/4" poly   TF3104-56-00 $8.80

5402 Legris tee, 1/8" NPT x 1/4" poly  TF3108-56-11 $11.79

5403 Legris elbow, 1/8" NPT x 1/4" poly  TF-3109 56 11 $5.83

5404 Legris Straight 1/8" NPT x 1/4" poly  TF3175-56-11 $9.29

5405 Reducing bushing, brass, 1/4" NPT x 1/8" NPT $8.50

5406 Threaded Brass Bushing, 1/2 NPT Male x 1/8 NPT Female $4.75

5410 Legris elbow, 1/4" NPT x 1/4" poly (fits into airbag) TF3109-56-14 $6.60

5411 Legris straight 1/4" NPT x 1/4" poly $8.67

5428 Compression straight w/ 1 nut - 1/8" NPT Female to 3/16 Tube $10.72

5429 Compression straight w/ 1 nut - 1/4" NPT Male to 3/16 Tube - fits in airbag $7.28

5431 Compression straight w/ 1 nut - 1/8" NPT Male to 3/16 Tube $4.83

5432 Plug with hex drive , 1/8" NPT with sealant $0.62

Brakes & Brake Parts
3031 Socket Head Cap Screw - Grade 8 - 5/16" x 1-1/4" $0.62

3032 Socket Head Cap Screw - Grade 5 - 5/16" x 3/4" $0.36

3033 Socket Head Cap Screw - 6 mm x 3/4" - stainless steel $0.32

3035 Self Drilling Panhead Screw - #8 x 1/2" $0.34

3040 #10-24  nylon lock nut $0.32

3041 #10-24 x 2 1/2" Socket Head cap screw Gr 8 $2.28

3100 Split Washer 5/16" $0.18

3101 Split Washer 3/8" Stainless steel $0.18

3102 Flat Washer 3/8", stainless steel $0.18

5041 Metal disc, for regular hub $38.68

5043 Metal disc, for CMS 1 1/4" $38.67



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 8

CMS Part # Description Suggested 
Retail

5045 Caliper, 1/4" $206.59

5045-RB Rebuild Caliper (Customer supplied) w/ New pads, pistons, & O-rings $112.45

5045-RBT Rebuilt Caliper (CMS supplied) w/ New pads, pistons, & O-rings $175.50

5046 Caliper pads, set of 4 $98.45

5048 Aluminum disc mount, for aluminum wheels $42.25

5049 Aluminum disc mount - 8 Bolt Hub pattern $32.17

5097 Caliper Shim - 3/8" ID x .020" thick $2.19

5098-25 Brake pad shims, set of 4, .025" thick, Stainless $6.75

5098-50 Brake pad shims, set of 4, .050" thick, Stainless $6.75

5100-P Disc Covers ( Plastic ) $32.50

5113 Caliper Bracket 3/8" raw steel, for disc cover $10.92

5116 Caliper Bracket 3/8" raw steel $6.94

5118 Caliper Bracket 3/8 raw steel for Torsion Arm ( No Cover) $7.50

5184 Tubing Clip 3/16" $0.54

5185 Igus Bearing 1/2" $1.50

5186 Disc Cover Rubber washer w/ adhesive back  - for 5100-P cover $1.61

5244 Disc Brake Caliper Pad Assembly Tool $21.00

5245 Replacement blade for #5246 tubing cutter $22.82

5246 Tubing Cutter $101.40

5247 Brakleen 19 oz $8.40

5340 Caliper bracket, 1" and 1-1/8" $47.78

5342 Caliper bracket, 1" and 1-1/8", w/ disc cover attachment $51.68

5343 Caliper Bracket with Cover Attach. 3/8 raw steel for torsion arm $12.95

5347 Caliper Bracket with Cover Attach. for Hurshtown Buggy $12.95

5393 Mounting Bracket for brake lock valve and air valve $4.25

5438 6mm Thread Cleaner $10.37

5439 6mm-1.0 tap $16.90

5440 898 M6 X 1.0 D9 Thread Form Tap 1.5P $26.84

5460 Caliper spring 3/8 x 1-1/4" die spring $3.25

5461 Caliper spring - keeps tension on pads to eliminate rattle $1.37

5462 O-ring for Caliper piston $4.55

5463 O-Ring Lubricant $42.25

5465 Caliper piston - for 1/4" caliper - set of 2 $30.55

5467 Bleeder Screw Bushing - Brass $5.25

5468 Bleeder screw, stainless steel $4.42

5469 Bleeder screw w/ 1/8" NPT brass bushing (combo of #5467 & 5468) $9.04

5530 Disc Brake Kit - 2 wheel - fits 1" and 1-1/8" axle (master cylinder not included in kit) $736.45

5530-DC Disc Brake Kit with Disc Covers - 2 wheel - fits 1" and 1-1/8" axle (master cylinder not included in kit) $772.85

5533 Disc Brake Kit - 2 wheel - fits CMS 1 1/4" hub - (caliper brackets & master cylinder not included in kit) $581.10

5533-DC Disc Brake Kit with Disc Covers - 2 wheel - fits CMS 1 1/4" hub (caliper brackets & master cylinder not included in 
kit)

$613.60

5534 Disc Brake Kit - 2 wheel - fits 8 bolt hub - (caliper brackets & master cylinder not included in kit) $649.00

5801-OH Drum, 8" OH drum only - installed & machined, per wheel $117.97

5801-OH Cable Drum, 8" OH Cable drum only - installed & machined per wheel $105.89

Brakes

Compression
5420 Brake tubing, 3/16" - per ft $1.25

5420-100 Brake tubing, 3/16" - 100 ft roll $97.50

5420-2000 Brake tubing, 3/16" - 2000 ft roll $1,565.00

5420-500 Brake tubing, 3/16" - 500 ft roll $412.36

5421 Compression tee for 3/16 tube $19.18

5422 Compression elbow  1/8" NPT to 3/16 tube $5.75



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 9

CMS Part # Description Suggested 
Retail

5423 Compression straight w/ 1 nut - Inverted Flare to 3/16 Tube - for Drum brakes $6.85

5424 Compression nut only for 3/16 Tube $3.64

5425 Brake tubing kit for disc brakes , 3/16" nylon $50.05

5426 Brake tubing kit for drum brakes , 3/16" nylon $51.35

5430 Brake lock valve $16.25

5450 Loctite Thread Locker 263 - 1.69 oz $65.85

5451 Loctite Thread Sealant 545 - 1.69 oz $64.35

Master Cylinders
5020 Brake eyelet $9.21

5127 Pedal cap $9.10

5549 M/C Arm Pedal Spring $3.02

5551-RB Master Cylinder rebuild kit, 1" for Jamar $58.50

5561 Master Cylinder only, 1", w/o check valve $103.81

5561-RB Master Cylinder Rebuild Kit 1", w/o check valve for Weavertown $39.44

5562 Master Cylinder only 1 1/8 w/o check valve $161.72

5563 Master Cylinder Only 1" with check (drum) $120.25

5564 Replacement Cap for #5561, 5562, 5563 $12.87

5565 Master Cylinder Pedal Only ( Does not Include Cap or spring) powdercoated black $27.40

5566 Master Cylinder Bracket Only, powdercoated black $25.82

5567 Master Cylinder Pedal & Bracket Only ( Includes Cap and Spring), powdercoated black $76.85

Buggy Parts
2004 Light Bracket with Bridle Hook $5.91

2004 SS 2004 light bracket in S.S. electro polished per pair $39.00

2039 Buggy Jack $57.85

2064-H Cart stand, horse size $65.00

2064-M Cart stand, mini size $64.84

2064-P Cart stand, pony size $65.00

2148-L Mirror brackets, long 6-1/8" $6.25

2148-M Mirror brackets, medium 5-1/8" $6.25

2148-S Mirror brackets, short 4-1/8" $6.25

2228-M Window holdups, Mennonite style, per pair $24.36

2228-N Window holdups, narrow 1-1/4", per pair $18.66

2228-W Window holdups, wide 2-1/4", per pair $17.55

2235-L Mirror brackets, stainless, long 6-1/8" $7.15

2235-M Mirror brackets, stainless, medium 5-1/8" $7.15

2250 Spring link, 1-1/4" hole center $1.62

2251 Spring link, 1-1/2" hole center $1.62

2252 Spring link, 2" hole center $1.72

2260 Light Bracket for Buggy with Bridle Hook $6.17

5036 Alum Shafts - Regular Metal w/ Aluminum shaft fronts $552.50

5036 SS Shafts - Regular Metal w/ Stainless Steel shaft fronts $617.50

5138 Pole, double hitch, aluminum for CMS Pivot up $715.00

5139 Pole Spring and Chain Assembly $19.50

5140 Pole, double hitch, aluminum $786.50

5149 Adjustable eye for double hitch pole heel $17.90

5156 Pole, Straight back heel, double hitch, aluminum - Custom with steps and landing $1,072.50

5164 Pole, double hitch, aluminum for KW Pivot up $799.50

5172 Mudsplasher, J-clip, 7/8" $2.54

5173-BP Mudsplasher, J-clip, extra bolts, nuts & washers 50 pc. pack $10.24

5174 Mudsplasher, J-clip, bio plastic eyelet $2.73

5178 Custom Mudsplasher strip, aluminum - specify size $7.74



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 10

CMS Part # Description Suggested 
Retail

5178-29.5 Mudsplasher strip, aluminum -  29-1/2" $3.44

5178-32 Mudsplasher strip, aluminum -  32" $3.71

5178-35 Mudsplasher strip, aluminum -  35" $3.89

5178-37 Mudsplasher strip, aluminum -  37" $4.00

5178-39 Mudsplasher strip, aluminum -  39" $4.06

5263 Pivot-up brackets for regular axle $88.56

5279 Roller Irons - Angled with Black Nylon Rollers $39.88

6006 Cart stand, folding, horse size $75.00

Paints/Primers
HC9044-Black DURAFLINT 9044 - Black Paint - 1 gal kit $179.00

HP5311 DTR Black urethane primer - 1.5 gal kit $200.80

HP662 DTA Epoxy primer - 2 gal kit $290.00

HP663 DTA Epoxy primer - 2 gal kit - White $290.00

Fasteners
3002 Threaded Rod, 5/16-24 X 3 ¼”, Stainless Steel, MC Plunger Rod $4.65

3003 Hex Nut 5/16" - 24 Zinc $0.16

3018 Nylon Lock Nut - Zinc plated - 3/8" $0.08

3019 Regular Nut - Stainless Steel - 3/8" $0.52

3026 Hexhead Bolt - Grade 5 - 5/16" x 3/4" $0.21

3036 Bolt - Hex head 3/8" x 2" Grade 5 Zinc $0.52

3037 Hex Bolt, 3/8"-16 x 3/4", Grade 5 $0.34

3038 3/8"-16 x 1-1/4" Hex bolt Gr 5 Plated $0.28

3039 3/8" x 1-1/2" Hex Head Bolt Grade 5 $0.39

3042 1/4" x 3/4" Carriage Bolt S.S. $0.33

3043 1/4-20 SS Nylon Locknut $0.18

3044 Hex Head Bolt 1/4" X 2" S.S. $0.39

3046 Hex Bolt 3/8" X 3/4" GR 5 , zinc $0.27



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 11

CMS Part # Description Suggested 
Retail

2004 Light Bracket with Bridle Hook $5.91

2004 SS 2004 light bracket in S.S. electro polished per pair $39.00

2039 Buggy Jack $57.85

2064-H Cart stand, horse size $65.00

2064-M Cart stand, mini size $64.84

2064-P Cart stand, pony size $65.00

2148-L Mirror brackets, long 6-1/8" $6.25

2148-M Mirror brackets, medium 5-1/8" $6.25

2148-S Mirror brackets, short 4-1/8" $6.25

2228-M Window holdups, Mennonite style, per pair $24.36

2228-N Window holdups, narrow 1-1/4", per pair $18.66

2228-W Window holdups, wide 2-1/4", per pair $17.55

2235-L Mirror brackets, stainless, long 6-1/8" $7.15

2235-M Mirror brackets, stainless, medium 5-1/8" $7.15

2250 Spring link, 1-1/4" hole center $1.62

2251 Spring link, 1-1/2" hole center $1.62

2252 Spring link, 2" hole center $1.72

2260 Light Bracket for Buggy with Bridle Hook $6.17

3002 Threaded Rod, 5/16-24 X 3 ¼”, Stainless Steel, MC Plunger Rod $4.65

3003 Hex Nut 5/16" - 24 Zinc $0.16

3017 Single tree Bolt  - 3/8"-16 x 1-3/4" Hex bolt 4140 x 7/16" thick head x 3/4" thread $6.50

3018 Nylon Lock Nut - Zinc plated - 3/8" $0.08

3019 Regular Nut - Stainless Steel - 3/8" $0.52

3021 Flat Socket Head Cap Screw - 3/8" x 1 1/2" SS $0.46

3022 Elevator Bolt - 3/8" x 1 1/2" Grade 2 $0.75

3023 Hex Bolt - 3/8" x 1" - stainless steel $0.57

3024 Hex Bolt - 3/8" x 1 3/4" Grade 5 $0.26

3025 Perch Bolt - 3/8" x 2-3/4" Grade 8 $3.58

3026 Hexhead Bolt - Grade 5 - 5/16" x 3/4" $0.21

3028 Hex Bolt - 3/8" x 1 1/4" Grade 8 $0.36

3029 Hex Bolt - 3/8" x 2 1/2" Grade 5 Plated $0.46

3031 Socket Head Cap Screw - Grade 8 - 5/16" x 1-1/4" $0.62

3032 Socket Head Cap Screw - Grade 5 - 5/16" x 3/4" $0.36

3033 Socket Head Cap Screw - 6 mm x 3/4" - stainless steel $0.32

3034 Flat Socket Head Cap Screw - 3/8" x 1" $0.34

3035 Self Drilling Panhead Screw - #8 x 1/2" $0.34

3036 Bolt - Hex head 3/8" x 2" Grade 5 Zinc $0.52

3037 Hex Bolt, 3/8"-16 x 3/4", Grade 5 $0.34

3038 3/8"-16 x 1-1/4" Hex bolt Gr 5 Plated $0.28

3039 3/8" x 1-1/2" Hex Head Bolt Grade 5 $0.39

3040 #10-24  nylon lock nut $0.32

3041 #10-24 x 2 1/2" Socket Head cap screw Gr 8 $2.28

3042 1/4" x 3/4" Carriage Bolt S.S. $0.33

3043 1/4-20 SS Nylon Locknut $0.18

3044 Hex Head Bolt 1/4" X 2" S.S. $0.39

3046 Hex Bolt 3/8" X 3/4" GR 5 , zinc $0.27

3050 Plastic Cap for 1 1/2" x 11 ga. tubing $0.98

3100 Split Washer 5/16" $0.18

3101 Split Washer 3/8" Stainless steel $0.18

3102 Flat Washer 3/8", stainless steel $0.18

5010 CMS 1 1/4" spindle $15.28

5017 Hubcap, CMS 1 1/4" $18.15

SO
RTED

 BY PA
RT #



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 12

CMS Part # Description Suggested 
Retail

5020 Brake eyelet $9.21

5028 Air pump $32.75

5029 Air pressure gauge, bracket $9.40

5033 Pivot-up Shaft Receiver - for flex tree or soft tug $123.50

5034 Pivot-up Shaft Heel $106.50

5034-6 Pivot-up Shaft Heel - 6" higher $188.50

5036 Alum Shafts - Regular Metal w/ Aluminum shaft fronts $552.50

5036 SS Shafts - Regular Metal w/ Stainless Steel shaft fronts $617.50

5037 Pivot up plate w/ 1" tabs, per pair $25.35

5041 Metal disc, for regular hub $38.68

5043 Metal disc, for CMS 1 1/4" $38.67

5045 Caliper, 1/4" $206.59

5045-RB Rebuild Caliper (Customer supplied) w/ New pads, pistons, & O-rings $112.45

5045-RBT Rebuilt Caliper (CMS supplied) w/ New pads, pistons, & O-rings $175.50

5046 Caliper pads, set of 4 $98.45

5048 Aluminum disc mount, for aluminum wheels $42.25

5049 Aluminum disc mount - 8 Bolt Hub pattern $32.17

5070 Hubcap, EZ pin, Powdercoated Black $6.82

5076 Hubcap, flush, Powdercoated Black $5.18

5080 Hubcap wrench - CMS 1 1/4" $11.38

5082 O-Ring - for CMS 1 1/4" hubcap $1.06

5086 Air bag, medium $159.50

5086-P Air bag, medium ( Painted ) $179.50

5087-AB Market Wagon Kit w/ Airbag $496.65

5087-AB-NF Market Wagon Kit w/ Airbag - No air fittings, gauges and tubing - Air fill valve only $496.65

5087-RS Market Wagon Kit w/ Rubber Shock $246.05

5089 Air Bag Bracket Adjuster $6.24

5090 Air Bag Bracket Axle Mount $10.96

5092 Air Bag Bracket $11.00

5093 Air Bag Bracket 1 1/4" Axle Mount $14.24

5097 Caliper Shim - 3/8" ID x .020" thick $2.19

5098-25 Brake pad shims, set of 4, .025" thick, Stainless $6.75

5098-50 Brake pad shims, set of 4, .050" thick, Stainless $6.75

5100-P Disc Covers ( Plastic ) $32.50

5113 Caliper Bracket 3/8" raw steel, for disc cover $10.92

5116 Caliper Bracket 3/8" raw steel $6.94

5118 Caliper Bracket 3/8 raw steel for Torsion Arm ( No Cover) $7.50

5127 Pedal cap $9.10

5138 Pole, double hitch, aluminum for CMS Pivot up $715.00

5139 Pole Spring and Chain Assembly $19.50

5140 Pole, double hitch, aluminum $786.50

5145 Strap - Heavy Web (B20) w/ 281 SS Buckle $7.74

5149 Adjustable eye for double hitch pole heel $17.90

5156 Pole, Straight back heel, double hitch, aluminum - Custom with steps and landing $1,072.50

5159 Rubber Shock Plate - 1/4" $9.42

5160 Mudsplasher Rod, Stainless Steel, powdercoated black - for regular tab $25.95

5161 Mudsplasher Rod, Stainless Steel, powdercoated black - for pivot up shafts $25.95

5164 Pole, double hitch, aluminum for KW Pivot up $799.50

5166 Rubber Shock Plate - 3/4" $9.75

5167 Axle nut for regular axle $1.25

5168 Axle Nut for CMS 1-1/4" axle $0.79

5169 Axle washer for regular axle $0.20



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 13

CMS Part # Description Suggested 
Retail

5170 3/16" axle washer for CMS 1-1/4" axle - Hardox 500 $2.53

5171 King Pin Bolt for TG $11.38

5172 Mudsplasher, J-clip, 7/8" $2.54

5173-BP Mudsplasher, J-clip, extra bolts, nuts & washers 50 pc. pack $10.24

5174 Mudsplasher, J-clip, bio plastic eyelet $2.73

5178 Custom Mudsplasher strip, aluminum - specify size $7.74

5178-29.5 Mudsplasher strip, aluminum -  29-1/2" $3.44

5178-32 Mudsplasher strip, aluminum -  32" $3.71

5178-35 Mudsplasher strip, aluminum -  35" $3.89

5178-37 Mudsplasher strip, aluminum -  37" $4.00

5178-39 Mudsplasher strip, aluminum -  39" $4.06

5183 Tubing Clip 1/4" $0.26

5184 Tubing Clip 3/16" $0.54

5185 Igus Bearing 1/2" $1.50

5186 Disc Cover Rubber washer w/ adhesive back  - for 5100-P cover $1.61

5187 Round end cap EPDM Rubber, Black - for pivot up shaft stop $0.50

5189-JASPER-
FT

Rubber Jasper - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) -  per ft. $6.30

5189-JASPER-
ROLL

Rubber Jasper - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) - 45 ft coil $292.50

5189-TBP-FT Rubber TBP - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) -  per ft. $8.78

5189-TBP-ROLL Rubber TBP - CMS Channel Profile - 1-1/4" Flat Top (fits CMS steel wheels only) - 55 ft coil $448.50

5190-FT Rubber Jasper - CMS Channel Profile - 1-1/4" Round Top (fits CMS steel wheels only) - per ft. $5.86

5190-ROLL Rubber Jasper - CMS Channel Profile - 1-1/4" Round Top (fits CMS steel wheels only) - 45 ft. coil $233.35

5191-FT Rubber -TBP- CMS Channel Profile - 1-1/4" Low Profile Flat Top (fits CMS steel wheels only) - per ft. $6.50

5191-ROLL Rubber -TBP- CMS Channel Profile - 1-1/4" Low Profile Flat Top (fits CMS steel wheels only) - 55 ft roll $345.00

5192 Air Manifold Assembly - Aluminum w/ 2 Regulators with check valves and Compressor $448.50

5192A-1 SS Face plate 16 GA #4 polish for Manifold w/ Regulators $8.13

5194 Air Manifold Assembly - Aluminum w/ 2 Paddle Switches & Compressor $429.00

5194A-1 SS Face plate 16 GA #4 polish for Manifold w/ Paddle Switches $8.13

5195 Mounting Plate for panel mount gauge $7.15

5196 Mounting Plate for air toggle switch $7.15

5200-AB Torsion Gear w/ Airbag - medium airbags in front & rear - choice of spindles $2,031.25

5200-ABKIT TG-5200 Airbag kit $874.25

5200-RS Torsion Gear w/ Rubber Shocks - in front & rear - choice of spindles $1,518.30

5200-RSKIT TG-5200 Rubber shock kit $279.50

5201-AB Torsion Gear w/ Airbag - medium airbags in front & rear - choice of spindles $2,031.25

5201-RS Torsion Gear w/ Rubber Shocks - in front & rear - choice of spindles $1,518.30

5204-AB Torsion Gear w/ Spring Attachment in Front & Airbags in rear - choice of spindles $1,618.75

5204-RS Torsion Gear w/ Spring Attachment in Front & Rubber Shocks in rear - choice of spindles $1,360.80

5205 Torsion Gear w/ Spring attachment - choice of spindles $1,243.75

5206 Torsion Gear w/ Spring attachment - choice of spindles $1,243.75

5207 Torsion Gear w/ Spring attachment - choice of spindles $1,243.75

5208 Torsion Gear w/ Spring Attachment - double half elliptic - choice of spindles $1,355.00

5210 Straight Axle Gear $1,193.75

5211 Straight Axle Gear w/ side springs in rear $1,193.75

5212-AB Straight Axle Gear w/ Airbags in rear $1,687.50

5212-RS Straight Axle Gear w/ Rubber Shock in rear $1,375.00

5214 Cart axle w/ torsion - w/ choice of spindles $383.50

5217 Perch $123.15

5218 Perch Plate - for airbag gear $8.45

5219 Perch Plate - for EZ spring $7.15

5220 TG Fifth Wheel Top Plate for Spring $55.25



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 14

CMS Part # Description Suggested 
Retail

5224 TG Fifth Wheel Top Plate for Airbag/rubber shock $59.15

5227 Perch Plate, rear $5.40

5228 Fifth Wheel Wafer for CMS Gear $12.25

5230 Airbag Mount - raw steel, weld-on $5.79

5234 TG Fifth Wheel Top Plate for Airbag/Rubber shock , with stops $86.45

5235 TG Fifth Wheel Plate for spring , with stops $87.75

5236 Mudsplasher Hanger Bracket - bolt on - stainless $9.25

5238 Pivot up angle bracket to install fiberglass shaft fronts on CMS Pivot up Heel - pair $49.50

5244 Disc Brake Caliper Pad Assembly Tool $21.00

5245 Replacement blade for #5246 tubing cutter $22.82

5246 Tubing Cutter $101.40

5247 Brakleen 19 oz $8.40

5257 Pivot up shaft bushing $1.62

5259 Shaft Spacer, 1" plastic $2.55

5260 Singletree - steel $86.12

5261 Pivot-up Shaft Receiver - for CMS steel singletree $133.58

5262 Singletree Washer $1.74

5263 Pivot-up brackets for regular axle $88.56

5270 Long spindle 1 1/8 - axle stub only $29.25

5271 Short spindle 1 1/8 - axle stub only $29.25

5276 Cenpeco Bearing Grease $10.81

5279 Roller Irons - Angled with Black Nylon Rollers $39.88

5280 Bearing, 1"  (07093) $9.03

5281 Bearing, 1 1/8" (07100) $7.75

5282 Bearing, small (A6075) $10.25

5283 Bearing, CMS 1-1/4" (LM67048) $6.43

5284 Oil seal, 1" $1.75

5285 Oil seal, 1-1/8" $1.75

5286 Oil seal, CMS 1-1/4" $1.75

5289 Oil seal driver $50.70

5290 Small Bearing Race A6157 $6.25

5291 Large Bearing Race 07196 $4.68

5292 Bearing Race LM67010 $3.90

5294 Hub Cover for CMS 1 1/4" hub - powdercoated black - includes 2 covers and 6 bolts $10.26

5295 Cotter Pin for 1 1/4" axle $0.25

5296 Cotter Pin for 1 1/8" axle $0.23

5298-B CMS Spring Tree w/ Black hooks $136.50

5298-C CMS Spring Tree w/ Chrome hooks $162.50

5300-A ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts, Steel Single Tree $552.50

5300-ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts - No Singletree - Need to specify receiver style $468.00

5300-B ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts, Black Spring Tree $604.50

5300-C ALUM Shafts - Pivot up metal w/ Aluminum shaft fronts, Chrome Spring Tree $630.50

5301 Spring Tree Mounting Bracket - Bolt on $19.50

5302 Shaft fronts - Aluminum,  per pair $145.00

5304 TG Fender Bracket - Bolt on $55.00

5307 Spring Wagon Kit w/ 4 Rubber Shocks $327.60

5307-A Top plate for Double Rubber Shock Kit $18.17

5307-B Bottom plate for Double Rubber Shock Kit $16.60

5310-none Wheel Steel with Custom hub $300.00

5310-none-set Wheel Steel with Custom hub - Set of 4 $1,200.00

5310-RFR Wheel Steel with Custom hub, with rubber & flat rim $481.25

5310-RFR-set Wheel Steel with Custom hub, with rubber & flat rim - Set of 4 $1,925.00



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 15

CMS Part # Description Suggested 
Retail

5310-RFR-LP Wheel Steel with Custom hub, with low profile rubber & flat rim $481.25

5310-RFR-LP-set Wheel Steel with Custom hub, with low profile rubber & flat rim - Set of 4 $1,925.00

5310-RHR Wheel Steel with Custom hub, with rubber & 1-1/8" half round rim $518.75

5310-RHR-set Wheel Steel with Custom hub, with rubber & 1-1/8" half round rim - Set of 4 $2,075.00

5310-RHR-LP Wheel Steel with Custom hub, with low profile rubber & 1-1/8" half round rim $518.75

5310-RHR-LP-
set

Wheel Steel with Custom hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $2,075.00

5310-RO-LP Wheel Steel with Custom hub, with rubber only, Low profile flat $406.25

5310-RO-LP-set Wheel Steel with Custom hub, with rubber only, Low profile flat - Set of 4 $1,626.43

5310-ROF-J Wheel Steel with Custom hub, with rubber only, flat - Jasper $406.25

5310-ROF-J-set Wheel Steel with Custom hub, with rubber only, flat - Jasper - Set of 4 $1,626.43

5310-ROF-T Wheel Steel with Custom hub, with rubber only, flat - TBP $406.25

5310-ROF-T-set Wheel Steel with Custom hub, with rubber only, flat -TBP - Set of 4 $1,626.43

5310-ROH Wheel Steel with Custom hub, with rubber only, half round $381.25

5310-ROH-set Wheel Steel with Custom hub, with rubber only, half round - Set of 4 $1,525.00

5316 Mudsplasher, PVC 36" x 29" with Aluminum strips top & bottom $136.50

5320 CMS 1 1/4" Hub W/Flange , raw steel for Fiberglass Wheel (8 bolt pattern) , includes painted hubcap $91.09

5340 Caliper bracket, 1" and 1-1/8" $47.78

5342 Caliper bracket, 1" and 1-1/8", w/ disc cover attachment $51.68

5343 Caliper Bracket with Cover Attach. 3/8 raw steel for torsion arm $12.95

5347 Caliper Bracket with Cover Attach. for Hurshtown Buggy $12.95

5360 Rubber shock - Large 4" $58.50

5370-24 24"x 3/8" Aluminum plate for Airbag/Rubber Shock - Front $31.85

5370-30 30" x 3/8" Aluminum plate for Airbag/Rubber Shock - Front $31.85

5371-24 24" x 3/8" Aluminum plate for Airbag/Rubber Shock - Front Split - Pair $31.85

5371-30 30" x 3/8" Aluminum plate for Airbag/Rubber Shock - Front split - Pair $31.85

5372-24-20 24" x 3/8" Aluminum plate w/ 20" Airbag/Rubber Shock centers - Rear $31.85

5372-30-20 30" x 3/8" Aluminum plate w/ 20" Airbag/Rubber Shock centers - Rear $31.85

5372-30-24 30" x 3/8" Aluminum plate w/ 24" Airbag/Rubber Shock centers - Rear $31.85

5372-37-33 37" x 3/8" Aluminum plate w/ 33" Airbag/Rubber Shock centers - Rear $45.50

5372-39-35 39" x 1/2" Aluminum plate w/ 35" Airbag/Rubber Shock centers - Rear $66.30

5380 Clippard Pressure Regulator, #10-32 Mainfold Mount, Knurled Knob, 10-50 psig $49.75

5381 Paddle Switch w/ 3/16" barb $37.50

5382 Fixed Setpoint Pressure Switch, wire lead , 1/8 NPT Male Connection, 50 PSI Setpoint off 30 PSI Setpoint on $12.68

5383 Air Compressor, 12 Volt, Victor $51.61

5384 Rubber Ball for manifold check Valve, 5/16" $4.34

5385 Compression Spring for manifold check Valve, 1.6" long .312 dia $0.97

5390 Air pressure gauge 60 psi $12.35

5392 Air pressure gauge, panel mount 100 psi $31.16

5393 Mounting Bracket for brake lock valve and air valve $4.25

5398 Brass tee, 1/8" NPT $4.55

5399 Watts Air fill valve $12.13

5400 Poly tubing, 1/4" (per foot) $0.83

5401 Legris tee, 1/4" poly   TF3104-56-00 $8.80

5402 Legris tee, 1/8" NPT x 1/4" poly  TF3108-56-11 $11.79

5403 Legris elbow, 1/8" NPT x 1/4" poly  TF-3109 56 11 $5.83

5404 Legris Straight 1/8" NPT x 1/4" poly  TF3175-56-11 $9.29

5405 Reducing bushing, brass, 1/4" NPT x 1/8" NPT $8.50

5406 Threaded Brass Bushing, 1/2 NPT Male x 1/8 NPT Female $4.75

5410 Legris elbow, 1/4" NPT x 1/4" poly (fits into airbag) TF3109-56-14 $6.60

5411 Legris straight 1/4" NPT x 1/4" poly $8.67

5420 Brake tubing, 3/16" - per ft $1.25



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 16

CMS Part # Description Suggested 
Retail

5420-100 Brake tubing, 3/16" - 100 ft roll $97.50

5420-2000 Brake tubing, 3/16" - 2000 ft roll $1,565.00

5420-500 Brake tubing, 3/16" - 500 ft roll $412.36

5421 Compression tee for 3/16 tube $19.18

5422 Compression elbow  1/8" NPT to 3/16 tube $5.75

5423 Compression straight w/ 1 nut - Inverted Flare to 3/16 Tube - for Drum brakes $6.85

5424 Compression nut only for 3/16 Tube $3.64

5425 Brake tubing kit for disc brakes , 3/16" nylon $50.05

5426 Brake tubing kit for drum brakes , 3/16" nylon $51.35

5428 Compression straight w/ 1 nut - 1/8" NPT Female to 3/16 Tube $10.72

5429 Compression straight w/ 1 nut - 1/4" NPT Male to 3/16 Tube - fits in airbag $7.28

5430 Brake lock valve $16.25

5431 Compression straight w/ 1 nut - 1/8" NPT Male to 3/16 Tube $4.83

5432 Plug with hex drive , 1/8" NPT with sealant $0.62

5438 6mm Thread Cleaner $10.37

5439 6mm-1.0 tap $16.90

5440 898 M6 X 1.0 D9 Thread Form Tap 1.5P $26.84

5450 Loctite Thread Locker 263 - 1.69 oz $65.85

5451 Loctite Thread Sealant 545 - 1.69 oz $64.35

5460 Caliper spring 3/8 x 1-1/4" die spring $3.25

5461 Caliper spring - keeps tension on pads to eliminate rattle $1.37

5462 O-ring for Caliper piston $4.55

5463 O-Ring Lubricant $42.25

5465 Caliper piston - for 1/4" caliper - set of 2 $30.55

5467 Bleeder Screw Bushing - Brass $5.25

5468 Bleeder screw, stainless steel $4.42

5469 Bleeder screw w/ 1/8" NPT brass bushing (combo of #5467 & 5468) $9.04

5480 Emergency Repair Kit $125.00

5500-none Wheel, Steel, regular long hub, $268.75

5500-none-set Wheel, Steel, regular long hub, - Set of 4 $1,075.00

5500-RFR Wheel, Steel, regular long hub, with rubber & flat rim $443.75

5500-RFR-set Wheel, Steel, regular long hub, with rubber & flat rim - Set of 4 $1,775.00

5500-RFR-LP Wheel, Steel, regular long hub, with low profile rubber & flat rim $443.75

5500-RFR-LP-set Wheel, Steel, regular long hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5500-RHR Wheel, Steel, regular long hub, with rubber & 1-1/8" half round rim $493.75

5500-RHR-set Wheel, Steel, regular long hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5500-RHR-LP Wheel, Steel, regular long hub, with low profile rubber & 1-1/8" half round rim $493.75

5500-RHR-LP-
set

Wheel, Steel, regular long hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5500-RO-LP Wheel, Steel, regular long hub, with rubber only, Low profile flat $368.75

5500-RO-LP-set Wheel, Steel, regular long hub, with rubber only, Low profile flat - Set of 4 $1,475.00

5500-ROF-J Wheel, Steel, regular long hub, with rubber only, flat - Jasper $368.75

5500-ROF-J-set Wheel, Steel, regular long hub, with rubber only, flat - Jasper - Set of 4 $1,475.00

5500-ROF-T Wheel, Steel, regular long hub, with rubber only, flat - TBP $368.75

5500-ROF-T-set Wheel, Steel, regular long hub, with rubber only, flat - TBP - Set of 4 $1,470.87

5500-ROH Wheel, Steel, regular long hub, with rubber only, half round $350.00

5500-ROH-set Wheel, Steel, regular long hub, with rubber only, half round - Set of 4 $1,400.00

5501-none Wheel, Steel, flush hub $268.75

5501-none-set Wheel, Steel, flush hub - Set of 4 $1,075.00

5501-RFR Wheel, Steel, flush hub, with rubber & flat rim $443.75

5501-RFR-set Wheel, Steel, flush hub, with rubber & flat rim - Set of 4 $1,775.00

5501-RFR-LP Wheel, Steel, flush hub, with low profile rubber & flat rim $443.75



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 17

CMS Part # Description Suggested 
Retail

5501-RFR-LP-set Wheel, Steel, flush hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5501-RHR Wheel, Steel, flush hub, with rubber & 1-1/8" half round rim $493.75

5501-RHR-set Wheel, Steel, flush hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5501-RHR-LP Wheel, Steel, flush hub, with low profile rubber & 1-1/8" half round rim $493.75

5501-RHR-LP-
set

Wheel, Steel, flush hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5501-RO-LP Wheel, Steel, flush hub, with rubber only,Low Profile flat $368.75

5501-RO-LP-set Wheel, Steel, flush hub, with rubber only,Low Profile flat - Set of 4 $1,470.87

5501-ROF-J Wheel, Steel, flush hub, with rubber only, flat - Jasper $368.75

5501-ROF-J-set Wheel, Steel, flush hub, with rubber only, flat - Jasper- Set of 4 $1,470.87

5501-ROF-T Wheel, Steel, flush hub, with rubber only, flat - TBP $368.75

5501-ROF-T-set Wheel, Steel, flush hub, with rubber only, flat - TBP - Set of 4 $1,470.87

5501-ROH Wheel, Steel, flush hub, with rubber only, Half Round $350.00

5501-ROH-set Wheel, Steel, flush hub, with rubber only, Half Round - Set of 4 $1,400.00

5502-none Wheel, Steel, 1-1/4" hub w/ seal $268.75

5502-none-set Wheel, Steel, 1-1/4" hub w/ seal - Set of 4 $1,075.00

5502-RFR Wheel, Steel, 1-1/4" hub w/ seal, with rubber & flat rim $443.75

5502-RFR-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber & flat rim - Set of 4 $1,775.00

5502-RFR-LP Wheel, Steel, 1-1/4" hub w/ seal, with low profile rubber & flat rim $443.75

5502-RFR-LP-set Wheel, Steel, 1-1/4" hub w/ seal, with low profile rubber & flat rim - Set of 4 $1,775.00

5502-RHR Wheel, Steel, 1-1/4" hub w/ seal, with rubber & 1-1/8" half round rim $493.75

5502-RHR-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5502-RHR-LP Wheel, Steel, 1-1/4" hub w/ seal, with low profile rubber & 1-1/8" half round rim $493.75

5502-RHR-LP-
set

Wheel, Steel, 1 1/4" hub w/ seal, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5502-RO-LP Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, low profile flat $368.75

5502-RO-LP-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, low profile flat - Set of 4 $1,475.00

5502-ROF-J Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - Jasper $368.75

5502-ROF-J-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - Jasper - Set of 4 $1,470.87

5502-ROF-T Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - TBP $295.00

5502-ROF-T-set Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, flat - TBP - Set of 4 $1,470.87

5502-ROH Wheel, Steel, 1-1/4" hub w/ seal, with rubber only, half round $350.00

5502-ROH-set Wheel, Steel, 1 1/4" hub w/ seal, with rubber only, half round - Set of 4 $1,400.00

5503-none Wheel, Steel, Graber Hub $268.75

5503-none-set Wheel, Steel, Graber Hub - Set of 4 $1,075.00

5503-RFR Wheel, Steel, Graber Hub, with rubber & flat rim $443.75

5503-RFR-set Wheel, Steel, Graber Hub, with rubber & flat rim - Set of 4 $1,775.00

5503-RFR-LP Wheel, Steel, Graber Hub, with low profile rubber & flat rim $443.75

5503-RFR-LP-set Wheel, Steel, Graber Hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5503-RHR Wheel, Steel, Graber hub, with rubber & 1-1/8" half round rim $493.75

5503-RHR-set Wheel, Steel, Graber Hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5503-RHR-LP Wheel, Steel, Graber Hub, with low profile rubber & 1-1/8" half round rim $493.75

5503-RHR-LP-
set

Wheel, Steel, Graber Hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5503-RO-LP Wheel, Steel, Graber Hub, with rubber only, low profile flat $368.75

5503-RO-LP-set Wheel, Steel, Graber Hub, with rubber only, low profile flat - Set of 4 $1,475.00

5503-ROF-J Wheel, Steel, Graber Hub, with rubber only, flat - Jasper $368.75

5503-ROF-J-set Wheel, Steel, Graber Hub, with rubber only, flat - Jasper - Set of 4 $1,475.00

5503-ROF-T Wheel, Steel, Graber Hub, with rubber only, flat - TBP $368.75

5503-ROF-T-set Wheel, Steel, Graber Hub, with rubber only, flat - TBP - Set of 4 $1,475.00

5503-ROH Wheel, Steel, Graber Hub, with rubber only, half round $350.00

5503-ROH-set Wheel, Steel, Graber Hub, with rubber only, half round - Set of 4 $1,400.00

5504-none Wheel, Steel, Canadian Hub $268.75



CMS Part # Description Suggested 
Retail

5504-none-set Wheel, Steel, Canadian Hub - Set of 4 $1,075.00

5504-RFR Wheel, Steel, Canadian Hub, with rubber & flat rim $443.75

5504-RFR-set Wheel, Steel, Canadian Hub, with rubber & flat rim - Set of 4 $1,775.00

5504-RFR-LP Wheel, Steel, Canadian Hub, with low profile rubber & flat rim $443.75

5504-RFR-LP-set Wheel, Steel, Canadian Hub, with low profile rubber & flat rim - Set of 4 $1,775.00

5504-RHR Wheel, Steel, Canadian Hub, with rubber & 1-1/8" half round rim $493.75

5504-RHR-set Wheel, Steel, Canadian Hub, with rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5504-RHR-LP Wheel, Steel, Canadian Hub, with low profile rubber & 1-1/8" half round rim $493.75

5504-RHR-LP-
set

Wheel, Steel, Canadian Hub, with low profile rubber & 1-1/8" half round rim - Set of 4 $1,975.00

5504-RO-LP Wheel, Steel, Canadian Hub, with rubber only, low profile flat $368.75

5504-RO-LP-set Wheel, Steel, Canadian Hub, with rubber only, low profile flat - Set of 4 $1,475.00

5504-ROF-J Wheel, Steel, Canadian Hub, with rubber only, flat - Jasper $368.75

5504-ROF-J-set Wheel, Steel, Canadian Hub, with rubber only, flat - Jasper - Set of 4 $1,475.00

5504-ROF-T Wheel, Steel, Canadian Hub, with rubber only, flat - TBP $368.75

5504-ROF-T-set Wheel, Steel, Canadian Hub, with rubber only, flat - TBP - Set of 4 $1,475.00

5504-ROH Wheel, Steel, Canadian Hub, with rubber only, half round $350.00

5504-ROH-set Wheel, Steel, Canadian Hub, with rubber only, half round - Set of 4 $1,400.00

5530 Disc Brake Kit - 2 wheel - fits 1" and 1-1/8" axle (master cylinder not included in kit) $736.45

5530-DC Disc Brake Kit with Disc Covers - 2 wheel - fits 1" and 1-1/8" axle (master cylinder not included in kit) $772.85

5532 Disc Brakes (No Covers) installed on CMS 1-1/4", per axle $676.00

5532-DC Disc Brakes with Disc Covers installed on CMS 1-1/4", per axle $676.00

5532-DC-NT Disc Brakes with Disc Covers installed on CMS 1-1/4", per axle - No Brake Tubing Kit $676.00

5532-NT Disc Brakes (No Covers) installed on CMS 1-1/4", per axle - No Brake Tubing Kit $676.00

5533 Disc Brake Kit - 2 wheel - fits CMS 1 1/4" hub - (caliper brackets & master cylinder not included in kit) $581.10

5533-DC Disc Brake Kit with Disc Covers - 2 wheel - fits CMS 1 1/4" hub (caliper brackets & master cylinder not included in 
kit)

$613.60

5534 Disc Brake Kit - 2 wheel - fits 8 bolt hub - (caliper brackets & master cylinder not included in kit) $649.00

5549 M/C Arm Pedal Spring $3.02

5551-RB Master Cylinder rebuild kit, 1" for Jamar $58.50

5558 Master Cylinder Assembly 1" w/ check (drum) Weavertown Style $203.45

5559 Master Cylinder Assembly 1" w/o check (disc) $203.45

5560 Master Cylinder Assembly 1-1/8" w/o check (disc) $245.00

5561 Master Cylinder only, 1", w/o check valve $103.81

5561-RB Master Cylinder Rebuild Kit 1", w/o check valve for Weavertown $39.44

5562 Master Cylinder only 1 1/8 w/o check valve $161.72

5563 Master Cylinder Only 1" with check (drum) $120.25

5564 Replacement Cap for #5561, 5562, 5563 $12.87

5565 Master Cylinder Pedal Only ( Does not Include Cap or spring) powdercoated black $27.40

5566 Master Cylinder Bracket Only, powdercoated black $25.82

5567 Master Cylinder Pedal & Bracket Only ( Includes Cap and Spring), powdercoated black $76.85

5700 Drum, 2 pcs 7" PA backers only - installed on 1-1/8" spindle $484.25

5701 Drum, 7" PA drum only - Installed & machined, per wheel $90.00

5800 Drum, 2 pcs 8" PA backers only - installed on 1-1/8" spindle $584.35

5801 PA Drum, 8" PA drum only - installed & machined, per wheel $112.00

5801-OH Drum, 8" OH drum only - installed & machined, per wheel $117.97

5801-OH Cable Drum, 8" OH Cable drum only - installed & machined per wheel $105.89

6006 Cart stand, folding, horse size $75.00

6103 Pivot-up Plate - raw steel, weld-on $4.91

CC-3353-3 3/8" x 1 3/4" Socket Head Gr8 plated $2.10

HC9044-Black DURAFLINT 9044 - Black Paint - 1 gal kit $179.00

HP5311 DTR Black urethane primer - 1.5 gal kit $200.80

HP662 DTA Epoxy primer - 2 gal kit $290.00



Carriage Machine Shop, LLC      •      250 Maple Ave.  Bird-in-Hand, PA 17505      •      717-397-4079      •      717-397-4085 (fax) 19

CMS Part # Description Suggested 
Retail

HP663 DTA Epoxy primer - 2 gal kit - White $290.00

NOTES:

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________ 

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________ 

________________________________________________________________________________________________

________________________________________________________________________________________________

________________________________________________________________________________________________ 

________________________________________________________________________________________________

________________________________________________________________________________________________



250 Maple Ave.   
Bird-in-Hand, PA 17505


